Action

PF3L Current [kA]

N
o

lllllllllllllll lllllllllll

)
(=

1500

1000

PF3L [Post Disruption]

500

=
o

llllllllllllllllllll TTT lllllllllll

o

llllllllllll

2641, Param Tree: 72

9
D
6
c
=

E_Auctioneered Data (idl)

F Conditioned Data (DCPS), Limits: [-16.000000,

12.000Q00]

lllllllllll

lllllllllllllll lllllllllll

lllllll

4 -2 0 2
time

4

(o]

T T T T T T T T T T T T T T T T T T T T T T T
- Full Action (DCPS), Limit = 1410.0000, Max.=1540.7420, End Val. 1537.8122

L Full Action (idl), Limit = 1410.00, Max.=1540.98,
- Shot #: 2641.00, Param Tree: 72

| Fault Time: 2.7178775

L Faults (L1) [AT,DT]: [-10.0000, 2.703

l T T T

T T T T

1

| I I | I | I I | I

4 -2 0 2

(o]

time
E_IDL, Circular, [-15.0222, 0.0138589]
- DCPS, Circular, [-15.022184, 0.013858905]
E IDL, Shaped [Displaced], [-15.0227, 0.0144102]

Shot #: 2641.00, Param Tree: 72

DCPS, Shaped [Displaced], [-15.022715, 0.014410217]

lllllllllllllllllll 111 lllllllllllllllllllllll

(o]



